ACCESSOIRES - ACCESSORIES ‘

UNION MALE ASOUDERA 6 PANS
WELDABLE MALE

I a

BSP-60° w W bl
A
CH
e T CH L kgx100 fode F CH L kg X100
RV501.0400 1/4" 19 18~ 2,00 RV502.1415 M14x1.5 19 19~ 2,20
RV501.0600 3/8" 22 20~ 3.60 RV502.1615 M16x1.5 22 21~ 2,60
RV501.0800 1/2" 27 23~ 5,00 RV502.1815 M18x1.5 24 22~ 4,40
RV501.1200 3/4" 32 26~ 7,60 RV502.2215 M22x1.5 27 24~ 5,80
RV501.1600 1" 41 30~ 15,40
RV501.2000 1"1/4 50 32~ 26,60

MATERIEL : ACIER
MATERIAL . STEEL

UNION MALE ASOUDER
RV511 m WELDABLE MALE

BSP-60° -

e R 2D L kgx100 o F D) L kgx100
RV511.0400 1/4" 15 25~ 2,00 RV512.1415 M14x1.5 14 30~ 2,00
RV511.0600 3/8" 17 35~ 3.80 RV512.1615 M16x1.5 16 31~ 3,00
RV511.0800 172" 21 35~ 5,60 RV512.1815 M18x1.5 18 35~ 4,00
RV511.1200 3/4" 28 41~ 9,40 RV512.2215 M22x1.5 21 37~ 5.50
RV511.1600 ™ 35 41~ 15,20
RV511.2000 1"1/4 43 45~ 26,30

MATERIEL : ACIER
MATERIAL . STEEL

1[][+ '\! col ‘TEH“ ‘lﬂ Lo société peut apporter foute modification au produit sans avis préoluble.
The compony reserves the right fo modify the product af any time withouf priar notice.




ACCESSOIRES - ACCESSORIES

Rv501 || Rv502 | [EEA O D AsiE ALe

L
e
BSP-60° | T
RN
CH/
Code F Code
Code BSP CH L kg x100 Code F CH L kg x100
RV501.0400 1/4" 19 18~ 2.00 RV502.1415 M14x1.5 19 19~ 2.20
RV501.0600 3/8" 22 20~ 3.60 RV502.1615 M16x1.5 22 21~ 2,60
RV501.0800 1/2" 27 23~ 5,00 RV502.1815 M18x1.5 24 22~ 4,40
RV501.1200 3/4" 32 26~ 7.60 RV502.2215 M22x1.5 27 24~ 5.80
RV501.1600 T 41 30~ 15,40
RV501.2000 1"1/4 50 32~ 26,60

MATERIEL : ACIER
MATERIAL : STEEL

RV511 || RVS12 | EMA O A M e

%

BSP60° -

A SRS I - S A S S T
RV511.0400 1/4" 15 25~ 2.00 RV512.1415 M14x1.5 14 30~ 2,00
RV511.0600 3/8" 17 35~ 3.80 RV512.1615 M16x1.5 16 31~ 3.00
RV511.0800 1/2" 21 35~ 5.60 RV512.1815 M18x1.5 18 35~ 4.00
RV511.1200 3/4" 28 41~ 9.40 RV512.2215 M22x1.5 21 37~ 5.50
RV511.1600 1" 35 41~ 15.20
RV511.2000 1*1/4 43 45~ 26,30

MATERIEL : ACIER
MATERIAL . STEEL

Lu soeizle peul appurler lou'e modiiee o ou produil suns uvis préalob e,
The company ieseives ih2 Fight fa manify e product af ony Hme withow:! priar noilee




ACCESSORIES - ACCESSOIRES|

WRPLIG ASEP/ATS

F

3353 sgp S kg x100 %?Jgg B:P S kg x100
ASEPD30000 1/8" 7 1,00 ATS31A0030 1/8" 15 3,00
ASEP040000 1/4" 8 1,20 ATS31A0040 174" 20 4,00
ASEP060000 3/8" 9 2,00 ATS31A0060 3/8" 19 4,50
ASEPO80000 1/2* 9 2,30 ATS31A0080 172" 19 6,00
ASEP120000 3/4° 1 4,00 ATS31A0120 34" 23 15,00
ASEP160000 3l 12 6,00 ATS31A0160 e 30 24,00
MATERIEL CORPS  LAITON FILTRE : BRONZE SINTERISE MATERELCORPS -LAITON  FILTRE : BRONZESINTERISE  PROTECTION: ACIER ZINGUE
BODY MATERIAL  * BRASS FILTER : SINTERED BRONZE BODYIMATERIAL  :BRASS  FILTER : SINTERED BRONZE CAP : ZINCPLATED STEEL

PROTECTION TARAUDAGES
CAP FOR THREADED HOLES APG/APM

 Gode sep o L G P L
APG0300000 1/8" 9.0 7.5 APM1215000 M12x1,5 10.5 8.0
APGOD400000 1/4° 12,0 2.0 APM1415000 M14x1,5 13.0 9.5
APG0600000 3/8" 15,5 9.5 APM1615000 M16x1,5 15.0 9.5
APG0800000 1/2° 19,0 10.9 APM1815000 M18x1.5 17.0 10,8
APG1200000 34 25,0 12,0 APM2015000 M20x1.,5 19.0 10,5
APG1600000 | 31.0 10,5 APM2215000 M22x1,5 21.0 11.0
APG2000000 1"1/4 39.5 11.0
APG2400000 11/2 46,0 10,5
APG3200000 2" 57.5 13.5

MATERIEL : POLYETHYLENE L.D.
MATERIAL = POIYETHYLENE LD,

Lo soiglé peul uppurler loule modiliculion ou produil suns avis préu/ble,
Tha comnany iesefves e ght io Tod'fy ihe procuct af cry fime wihos pror nolice




ACCESSOIRES - ACCESSORIES |

PROTECTION TARAUDAGES
CAPFOR THREADED HOLES

g‘;"d‘; o D 1 12 CH ggg,g F D L1 12 CH
APSEP43516 /8 168 0 10 13 APSEP435M12 M12x15  17.2 10 10 13
APSEP43519 4T 192 9 10 13 APSEPA35M14 M1dx15  19.2 10 10 13
APSEP43522 38 222 9 T 17 APSEPA35M16 M6x1,5 220 10 10 17
APSEP43527 2 272 12 13 19 APSEP435M18 MI8x1,5  24.0 10 n 17
APSEP43532 34 323 12 13 24 APSEP435M20 M20x1,5  26.0 10 1 19
APSEP43540 1© 40,0 15 14 27 APSEPA35M22 M22x1,5  27.2 10 14 19
APSEP43550 17174  50.4 15 15 36
APSEP43555  1°1/2  56.4 15 15 21
APSEP43568 2 684 15 15 55

MATERIEL : POLIAMIDE PA 6
MATERIAL : POLYAMIDE PA 6

PROTECTION TARAUDAGES
CAPFOR THREADED HOLES

D
Code F
Code BSP @D H gggg F 2D H
APSEP510018001 1/8" 13.0 12.0 APSEP510M01215 M12x1.5 10.5 14
APSEP510014001 1/4" 16.0 13.0 APSEP510M01415 M14x1.5 18.5 14
APSEP510038001 3/8" 20.5 14.5 APSEP510MO01615 M16x1.5 20.5 14
APSEP510012001 1/2" 24.5 15.5 APSEP510MD1815 M18x1.5 22.0 15
APSEP510034001 3/4" 30.5 16.6 APSEP510M02015 M20x1.5 24.5 16
APSEP510100001 i 40.0 19.6 APSEP510M02215 M22x1.5 26,6 16
APSEP510114001 1"1/4 48.0 17.5
APSEP510112001 1'1/2 56.0 18.0
APSEP510200001 o 68.0 19.0

MATERIEL : POLYETHYLENE
MATERIAL : POLYETHYLENE

Lu soeizle peul appurler lou'e muodiiee o ou produil suns vis préalob e,
The company fesenves 12 right fo maalfy e praduet o ony tme withou: prar notice




